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(x+ 9)(7x—5) (7+ 5x)(2x— 4)
(x— 3)(7x + 8) 4+3Px-1)
(3x+ 9)(x* + 8x + 8) (4x” + 3)(x + 2)
(8% — 6x— 6)(x— 7) (6x— 6)(8x— 1)
4+ 4P (Tx—7) (25 + 8x + 8)(9x + 4)
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x+9)(7x—95)
7x> + 58x — 45

(x—3)(7x+8)
7> — 13x— 24

(3x+ 9)(x* + 8x + 8)
3% + 33x% + 96x + 72

(8% — 6x— 6)(x — 7)
8x° — 62x% + 36x + 42

@+ 4 (Tx—7)
28x> — 28x° + 28x — 28

EEN NG BL

(7+ 5x)(2x — 4)
10x> — 6x— 28

4+32x- 1)

30— 3% +4x— 4

(4% + 3)(x +2)
4 + 8% + 3x+ 6

(6x—6)(8x—1)
48x” — 54x+ 6

(2% + 8x + 8)(9x + 4)
18%° + 80x% + 104x + 32
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